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# 5 (1)

o &S FIAI B

6 =(iy iy ... i), T =( by - Js),

2{i, iy o, i 3O L iy oo J3=0, Mot =10
e JEERH;

— FEREXeS, T =FIER T

— Xe{l, by, ooy ILF

— Xe{y Jpr oon Ik

= XeS-({iy, Iy, -, WPy oy -0 I,
¥FT(X) = 16(X)



2~ #

OoT = To5FUrJ
Vx(x €S = (T(J(x)) = a(r(x))))
oBYE XY
o (x) = {i(}-mgd K+1 Lf x =1 for some j

X other wise
TS LA A ML A XK
FREA, ArEEY BT T LA ARG
Vx(o(x) = A1(x) =) A

{ilr i21 1N lk} N Ul!jzr ---rjs} — @
= Vx(r(cr(x)) = O'(’E(x)))
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-*‘..a,*rsl ={i]_r’i2! _..’ik}, Sz ={j’1:j21 “"ljS}
EBR—1FEx € S,

- (1) §$nS, =90 (F7F)

- (2) xeS=>(xeS)V(XES))V(xES—-5 —-35) (&)
- (3) xes)=2tx)=x (mx, 1)

- (4) xeS) =) €S =1(a0(x)) =a(x) (X, 1)

- (5) (xes)= r(a(x)) = og(t(x)) (3, 4)

— (6) xeS)=0x)=x (=mx, 1)

- (7)) xeS)=21(x)ES, = -:r(r(x)) = 7(x) (mx, 1)

- (8) (xeS)=>1(0c(x)) = a(z(x)) 6, 7)

- (9) xeS-5-S5)=2>cx)=1(x) =x (HEEit, BmX)
— (10) (xeS—=85—-S)=2>1t(c(x)) =0a(t(x)) (9)

— (11) x eS=1(0(x)) = a(1(x)) (2, 5, 8, 10)

- (12) vx(x €S = (1(0(0) = o(1(x)) )) (BAREA MR )
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